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ULLA T FA 719,752 655,252 64,500
(HFR)FQUXNXHEH 2 57,080 55,080 2,000
201 LEt2 A H| 57,080 55,080 2,000
03 @A G H| 2,000 0 2,000
O FLUNXNZ2Y LHE3 L A FH S
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(H)8xg s3FH| 130,276 126,276 4,000
201 LBt 17,522 13,522 4,000
02 B229H| 16,010 12,010 4,000
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201 LEt2 A H| 198,830 143,830 55,000
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01 MY EEF SH 3,500 0 3,500
oR#&0t012 Y 3,500,000 x 14! 3,500 0 3,500
Xl o e 898,922 808,922 90,000
XSO0 AL 892,922 802,922 90,000
(BR)ARDTO=2AAY 704,548 614,548 90,000
401 Al Y2 20| 704,548 614,548 90,000
01 Al&H| 703,000 613,000 90,000
OU=g PA12l 2SI &X ZAHBE)
20,000,000 20,000 0 20,000
ou+s g24d =4 B AH(L=1km,B=10m)
20,000,000 20,000 0 20,000
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#HYEX 1,180,429 128,299 52,130
HR)FOUNAME S YR 116,617 114,617 2,000
201 et HH| 109,840 107,840 2,000
03 BAL2 bl 2,000 0 2,000
OFQUNKNT2IY 2E3 L MAS =
2,000,008 * 13l 2,000 0 2,000
HR)SYHYREN 506,041 455,911 50,130
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02 B2l 487,972 437,972 50,000
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OPIE=3=: 247,819,200 247,820 235,120 12,700
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- JIEHIH S 5,440,000& 5,440 5,280 160
< JIERDES (AT X JreE =)
30,0003 x4 = 1201 & 1,440 1,440 0
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SN 228S
Ha: YH2AAH (L2HE)

S I E= EERED
2N -3 -2 (SH) - NHEAMY - BES Ol &F o4 I E M Husz
22%s 549,443 456,986 92,457
HHSAAH (L2HE) 422,125 354,733 67,392

o121 2 gyl 370,020 302,708 67,312
(8=)e2tl 356,340 291,128 65,212
101 1218 356,340 291,128 65,212
e 356,340 291,128 65,212
0Jl23 268,855 217,424 51,431
OPIE--3= 248,173 200,699 47,474
-prx 248,173 200,699 47,474
73 2,712,600% * 3% * 122 97,654 32,552 65, 102
- 93 1,469,008 * 1% * 122 17,628 35,256 A17,628
SV 20,682 16,725 3,957
=-EEa=
248,173,002 * 1 /12 * 50% * 23] 20,682 16,725 3,957
0+g 43,665 37,440 6,225
OZB224Y 24,411 21,360 3,051
~UUE 84768 + 8% * 30AI2 * 122 24,411 21,360 3,051
OFULg 19,254 16,080 3,174
sy 4,560 3,360 1,200
TEP 40,0002 * 6% + 122 2,880 1,440 1,440
- E=2) 20,0002 * 7% + 122 1,680 1,920 £240
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DSy 463,308 * 1% * 43 1,854 0 1,854
- =Rl 4,680 6,240 A 1,560
25 01 & 130,0008 * 12§ = 128 1,560 3,120 A 1,560
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- 5140/ &4~104 0] ¢
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QYDA 30,0008 * 3Y + 12 1,080 720 360
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OFAZ A 130,0008 * 8% * 128 12,480 10,920 1,560
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© 010t 2 &bl
248,173,000  86% * 1/12 * 1/30 * 11 6,522 5,274 1,248
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072 140,008 * 3% » 128 5,040 1,680 3.360
082-92 105,008 * 3% * 12 3,780 5,040 A1,260
EET 52,105 52,025 80
(B=)1=22y) 52,105 52,025 80
203 &2 £ bl 9,960 9,880 80
02 RO YR EAY 360 280 80
©J1Z % (F & 100 I XI) 40,0002 * 9% 360 280 80
Foao @ A (22FE) 127,318 102,253 25,065
OECIE BHEXY 127,318 102,253 25,065
(BF)Zoiue X2 105, 144 84,079 21,065
206 TH 2 bl 2,940 2,688 252
01 Mt 2,940 2,688 252
ORUAVALZINALDS 2,940 2,688 252
O=ALHEX 63,000 * 108~ 630 378 252
301 YurE a3 90,490 69,677 20,813
058 -0 - sRESENS 83,070 62,257 20,813
osz+g 77,920 58,507 19,413
OJIZS(MAFIZ) 200,008 * 8% « 9% 14,400 0 14,400
O&012 43,200,002 * 1/12 * 100% * 23] 7,200 6.667 533
ON0Z(URAS)
14,400,000% * 1/9 * 100% * 13] 1,600 0 1,600
O3l @A+ (ARAS)
20,0002 * 8% « 23] * 9 2,880 0 2,880
CEIR RS 25,0008 * 77% « 23] 3.850 3,750 100
OHFAL(URAS) 25,0008 * 528 * 13l 1,300 0 1,300
(BF)FUNALEH 2 15,824 11,824 4,000
201 Ler2 | 1,080 9,080 2,000
03 HAL2 HH] 2,000 0 2,000
OFOUNATZIY 2H3 L HAF =
2,000,008 * 18] 2,000 0 2,000
301 YurE a3 4,744 2,744 2,000
09 A 243 4,744 2,744 2,000
OFRURAMEHSY HAAH 2N
4,744,000% 4,744 2,744 2,000




